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(1.1) 	 Centrifugal compressor LLact: Axial compressor -inihnaui--3Eril.1-6A-14-fg:',1711n1 

66azwvart-niagini,Rula,1 Axial compressor 
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(2.1) Work done factor's Axial flow compressor gaa:-17 waitnufiv- wiaan'imAzik17:1,-n@u 
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(3.1) Energy transfer ua Energy transform gaact17 ,IE_Ifwi"-- adili_11-1.-nou 

(3.2) ".10E-ISIEJi01,0111*1.11:,'Mtll Turbine LLIJIJ Impulse stage LL 	Reaction stage 
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(4.2) .10‘ili'lLf1.1I9STell@ln-17t,e,nicv\liirnollt Combustion chamber 
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770fei 5. A centrifugal compressor compresses 30 kg/s of air at a rotational speed of 15000 rpm. The air enters the 

compressor axially (ct1=0), and the condition at the exit sections are radius 12=0.3 m, relative velocity of air at the tip 

w2=100 m/s at an angle of ,62  =800  with respect to plane of rotation. Take po1=1 bar and To1=300 K. Find the torque 

(T) and power required to drive the compressor (W) and also the ideal pressure head developed (p02). (Slip factor = 

0.9, Isentropic efficiency = 75%) 
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21 	6. A 50% reaction, axial flow compressor runs at a mean blade speed of u=250 m/s. The pressure ratio 

developed by the machine is 1.3. Determine the blade and air angle if the mean flow velocity was ca=200 m/s. 

Condition at inlet are 1 bar and 300 K. (Work done factor= 0.95) 
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